

# Neil

Note Title

18/01/2007

$$\Sigma (A \times B) \longrightarrow B T_{\Sigma}$$

↑      —————

$$f \in \Sigma \quad f((x_1, b_1) (x_2, b_2) (x_3, b_3))$$

$$\frac{t \quad \downarrow \quad v}{\text{wait } (t) \quad \downarrow \quad v}$$

$$R(S, B) \cong S(\text{Id} \times B) \rightarrow BT_{\Sigma}$$

$$\bullet R(S, B) \rightarrow R(S', B) \rightarrow R(S + S', B)$$

$$S(\text{Id} \times B) \rightarrow BT_{\Sigma}$$

$$S'(\text{Id} \times B) \rightarrow BT_{\Sigma}$$

$$\bullet \delta: \Sigma F \rightarrow F \Sigma$$

$$R(\Sigma, B)$$

$$R(\Sigma, FB)$$

$$\Sigma(\text{Id} \times FB) \rightarrow FB T_{\Sigma}$$

$$\hookrightarrow \Sigma(F(\text{Id} \times B)) \rightarrow F \Sigma(\text{Id} \times B)$$

$$S' \longrightarrow B T_{S+S'}$$

$$\begin{matrix} S' \longrightarrow \delta T_{S+S'} \\ \delta'(I \times B) \end{matrix}$$

$$G \text{ Rec } (S', S, B) \cong [S', B T_{S+S'}]$$



$$R(S, B)$$



$$R(S+S', \cancel{B})$$

$$\begin{matrix} S' \longrightarrow B T_{S+S'} \\ \delta'(I \times B) \\ \rightsquigarrow \end{matrix}$$

$$S(I \times B) \longrightarrow B T_{S+S'}$$

---


$$(S+S')(I \times B) \longrightarrow B T_{S+S'}$$

